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2.  Практическая часть. 

Выполните задание:

1) 5,1: 3= 

17;   1,7;   0,17.  

2) 0,84 – 0,54= 

30;   0,03;  0,3.  

3) 0,4 ×7 = 

2,8;   28;  0,28.  

4) 1,3 + 3,6= 

0,49;   4,9;   49.  

Установите соответствие между числами и буквами, заполните таблицу: 

2,8 – Б   4,9 – Е   0,3 – У   1,7 – Х  

1,7 0,3 2,8 4,9 

 

 

   

Выполните задание: 

1)  22,5 : 5= 

4,5;   0,45;   45 

 

2) 0,3×865= 

0, 2595;   2,56;   259,5 

 

3) 52,6 +963= 

10, 156;   1015,6;   101,56 

 

4) 999: 0,3= 

33,3;   3,330;   3330 

 

5) 625 – 67,5= 

75,5;   557,5;  57,5 

 

6) 65,8+96,2= 

16,2;   162;   0,386 

Установите соответствие между числами и буквами, заполните таблицу: 

4,5 – Г     1015,6 – Р     162 – Н     259,5 – А    3330 – М     557,5 – А 

4,5 

 

259,5 1015,6 3330 557,5 162 

      

 


